


) ply=ie P08, PO

[ o= 7O SOCTE






_ J()x sipx ¥ dx 2

= SSMLAJM

U=x
du= B d%



[D) \ D |31 6] g&):flx_ﬂe}(ﬂﬁ\

X 3

W 1 |87

P o= et

( — 3=k (g -
F(3)= 2clu) = €'
:19(1Q):;1@ﬁ

3= 45'w)

SRONE

S







U2 X- (=2 X=uw+!

2) (uxfx=1 dx :’%f €0 elx s s

Sy (@@Y& = %5 UE/EF W el

Sh | 2 I
ﬂ((%;ut -+ 73U )

' /2 -4
ﬂ%m Sy




%ﬂugﬁwé‘éz‘!’\ ?ﬂ/“;n’ —Qar‘ Oé_{:g_z € (A win-

a{,.g:a- )323/*1— —F(X_)T—/Z{’;‘I’%‘\’I\‘{
sk (= :LL\fH +14
Qb@:g é{}H ot =N Fq
. s
St C

2=} 2 C



g“(}ﬁ):_(:'(?(), g,(,ﬂ):()(% Cb) At
2 ~3zx£6

g W=£6)




